Exercise 10 
Q1.
(a)  Population: Blood glucose level of patients who attend Clinic-A.


       Variable:     Blood glucose level.
(b)  Quantitative and Continuous
(c)  Let X be a Blood glucose level of patients, then 
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    90% Confidence Interval for 
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    95% Confidence Interval for 
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     (iv)   99% Confidence Interval for
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    99% Confidence Interval for 
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Q2.
Let X be the waiting times(in minutes) of patients who attend certain clinic, then 



X ~ N(
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(a)   Point estimate of 
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(b)   90% Confidence Interval for
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    90% Confidence Interval for 
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(c)   99% Confidence Interval for
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    99% Confidence Interval for 
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[image: image75.wmf]m

 <  17.575
Q3.
(a)  Population: The number of heartbeats per minute of KSU students.

       Variable:   Heartbeats per minutes

       Type:
Quantitative and discrete

(b)  
X ~ N(
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, 100)  ;   where   
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     (i)   Point estimate of 
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    99% Confidence Interval for 
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86.3214  < 
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 <  93.6786
Q4.
Let X be the cholesterol rates of males drawn from a large population, then 



X ~ N(
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(a)   Point estimate of 
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(b)   90% Confidence Interval for
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    90% Confidence Interval for 
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(c)   95% Confidence Interval for
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    95% Confidence Interval for 
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 is

238.975  < 
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 <  261.025
Summary 

Q1.     N = 25   Mean = 100   Standard deviation = 9

                                                Confidence Limits

Confidence     z
        Lower            Upper

    90%            1.645            97.0390         102.961

    95%            1.96              96.4720         103.528

    99%            2.575            95.3650         104.635

Q2.     N = 16   Mean = 15   Standard deviation = 4

                                                Confidence Limits

Confidence     z
        Lower            Upper

    90%            1.645            13.3550         16.645

    95%            1.96              13.0400         16.960

    99%            2.575            12.4250         17.575

Q3       N = 49   Mean = 90   Standard deviation = 10

                                                Confidence Limits

Confidence     z
        Lower            Upper

    90%            1.645            87.6500         92.3500

    95%            1.96              87.2000         92.8000

    99%            2.575            86.3214         93.6786

Q4        N = 64   Mean = 250   Sample Standard deviation = 45

                                                Confidence Limits

Confidence     z
        Lower            Upper

    90%            1.645            240.747         259.253

    95%            1.96              238.975         261.025

    99%            2.575            235.516         264.484
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